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gentiles, the child is a gentile’; what is the relevance of this law

OVERVIEW

The X3 is presently discussing one of the rulings of the 7iwn concerning
the castaway child. The X 13 asks; in regards to what, did the 71wn rule that
if the city had a majority of 2"12¥, the child is considered an 2"2V.
Seemingly the X723 could have answered that he is considered an 2"12¥; in
that we are not required to support him. m501n will explain why the &713 did
not answer in this manner.
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The X713 could not have answered that the child is considered an 2"12Y in
regards that there is no requirement to sustain him; for if it is in reference
to W17 X9w then why teach this rule in a case where a majority are

gentiles; even if (only) half are gentiles, we are also not required 1nnn> —
:HNPNNY HNIYS "NT 29 MNP INIY? 2992 NPITT

For only in a case where the majority is »87w> did 27 rule that he is
considered a ®X"w" in reference WNMT; but not by ¥ Yy 3.

SUMMARY
The X771 could not have said that he is considered an 2™y (if 2"dy 217)
concerning N1 XOW; for even mxnn HY 7¥nm1 there is no MN1MI7 207.

THINKING IT OVER

1. mooIn states that when 27 ruled that there is a 11’172 29°0 that is only 2172
DX, but not n"vna. Can moon offer proof (from our X)) for this
assumption; or is it (merely) a X720?

2. If we assume that 1nvr» is (merely) a “mn 77 then even by Xw° 210
there should be no 1n1°17% 210; for 2177 AR IR 199917 PR!

! See also 1w &Y 77 °"w.

% The reason seems to be that N7 is a 71 7. We are not required to be 17mn X% unless he proves that
he is a 987w (as the NXx shortly states concerning f¥nn ¥ nxnn). See (¥"? 7"7 'm32) nwia nR. See
‘Thinking it over’ # 2.

? See footnote # 2. See (79°%1) 29p W 2"n.
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